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Time Limit : 1 hour Questions are present in English & Hindi All Questions Carry Same Marks
W HT: 1 "ot o st a et Ff R ¥ it wer T st S E
1- Consider the following square : 5- 125, 235, 345,
- - 4
A B 7 A-173 B- 358 C-259 D- 455
13 37 c 8- If the value of the (m)+(1/m)=4. Then what is the value of
D E F m*+{1/m}’ ?
A-21 B- 18 C-14 D-9
Some number are missing in the above square in order to transform
it into a ‘Magic Square', the blanks will be filed up by 8- 30T (m)+(1/m)=4 ram +{1/m)* = B
A B Cc D E F
AT3 3 43 1 67 R Bt s L=
B-31 73 61 67 1 43 o , '
c-43 67 1 61 73 31 7- If ‘A+B’ means ‘A is the daughter of B',
D-31 61 43 . 73 31 ‘AxB’ means ‘Ais the son of B', and
‘A-B' means ‘Ais the wife of B'
1-Fa wr e then T-SXB-M, which of the following is not true ?
A B A- B is the mother of S B- M is the husband of B
C- Tis the daughter of M D- T is the daughter in law of B
13 37
D E F 7-'A+B' %1 e ‘A, B F ¥ ¥
S T S - AXE 1 A A, B e &
A - c D . . A-B' =1 Haem ‘A, BHI TS &
A-T3 31 43 1 67 61 A T-SXB-M, % ferd =/ welt &
B31 73 61 67 1 43 A-BSFIHE B-M,BHErafr &
C43 67 1 61 73 Ky
D31 61 43 1 73 31 C-TM= s D-T.B# =g ¥

8-The mnssmg number in the gwen figure is

2- In a certain code language MADRAS is coded as ‘ARSARS'
then how will ' MUMBAI' be coded in that language
A- UBMUBM B- UBIUBI C- MUMMUM D- MBA MBA

D-19
2- el #re ¥ wxe #1 ‘ARSARS' foran & & MUMBAlahwrae?f
8- s HE&AT Fars
A- UBMUBM B- UBIUBI C- MUMMUM D- MBA MBA
3-CC_CC,dd_d_, CC_CC, dd-dd . . .
A-dcdcd B-dccdd C-dcdcc D-dcddc A-13 D-19

4- B is the aunt of C and A is the husband of B who is the sister of
D. Howis D related to A ?
A- Aunt B- Nephew C-Brotherinlaw D- Uncle

9- Select the combination of numbers so that the letters arranged
will form a meaningful word.

HNRCAB

123456
A-253416 B-356412 C-415623 D-6,3524,1




9- 7r=2f I gH: SHaftad FW U el e F g
HNRCAB
123456

A-253416 B-356412 C-415623 D-63524,1

10- In the following figure a part of it is missing find out from the
given option (a), (b), (c). (d)

°f -
O -
O N O|¥Y O/oo
olo oolkh o] |o L O
A B C D
10- T T v
o -
Q==
O\fo’ o|lf o] |o
olo oolh o] lo L ©
A B Cc D

11- Choose the one which expresses the right meaning of the word
Remedial

A- Corrective  B- Wise C- Powerless D- Foolish
12- Reticent = ......... ?

A- Confident B- Sad C- Truthful D- Secretive
13- Choose the word opposite in meaning of fragile

A- Complicated B- Breakable

C- Weird D- Software

14- The opposite of Progeny is ?

A- Kid B- Parent C- Friend D- Enemy

15- A part of sentence is underlined Choose alternative which

may improve the sentence.

It was not possible to drag any conclusions so he left the case.

A- Fetch B- Find C- Draw D- No Improvement

16- No sooner had the teacher come into the class........... the

students stood up

A-Than B- Then C- When D- Whence
17- Complete the sentence

| fo go there when | was student

A- Liked B- Used C- Prefer D- Denied
18- You should not laugh the poor

A-on B- at C- with D- over

(2)

19- Which country is going to host the FIFA World Cup 2022

A- Brazil B- Qatar C- England D- Russia
19- 2022 FearE fava F9 & AEH g M A W ¥ ?
A- wTSite B- ®et C- $vg D-&9

20- Select the pair that best expresses a relationship similar to
that expressed in the original pair - WATER : RIPPLE

A- Sand : Storm B- Breeze : heave

C- Wind : Sunset D- Light : Spark

20- 3G Sire i e S oy @it e
T T

AW qEH B-wA:R  C-EA:EEE  D-dwrd

21- Which of these has no unit ?

A- Electronegativity B- Electron Affinity

C- lonisation Energy D- Resistance

21-370 § pae R e &

A- TR B- ¥t THFR

C- MEAATESI 311 D- 3/Eg

22- What is the net charge on ferrous ion ?

A-+2 B-+3 C-+4 D- 45
23- Nitrous Oxide is known as

A- Breathing gas B- Laughing Gas

C- Exercising Gas D- Laboratory Gas

24- Chemical formula of hydrogen peroxide Is

A-H,0, B-H,0 C-H,0, D- Ho,
25- The most stable compound

A- LiF B- LiCl C- LiBr D-Li,0
25- 7% { walfvs ReR el SR W & ?

A- LiF B- LiCl C- LiBr D-Li,0

26- The reactivity of metals with water is in the order of
A- Na>Mg>Zn>Fe>Cu B- Cu>Fe>Zn>Mg> Na
C- Mg>Zn>Na>Fe>Fu D- Zn>Na>Mg>Fe>Cu

26- 578 v F g o wm ad suim g ?
A- Na>Mg>Zn>Fe>Cu B- Cu>Fe>Zn>Mg> Na

C- Mg>Zn>Na>Fe>Fu D- Zn>Na>Mg>Fe>Cu
27- Magnalium Contains
A-Al+Mg  B-Mg+Cu C- Mg+Fe D- Mg+Ag




27- Imiferm fFe T & 2

A- Al+Mg B- Mg+Cu C- Mg+Fe D- Mg+Ag

28- Which is not a good conductor of electricity

A- Graphite  B-lron C- Tungsten D- Diamond
28- 578 | I @ favielt 1 =1 Haws TE ¥

A-TFRe B- =gt C- &z D- g/

29- Purest form of water can be obtained by

A- Evaporation B- Filtration  C- Distillation D- Decantation
29- U 1 HEY YE T HY Wa T Y

A-TEiiEr  B- TN C- ar9aA D- famor

30- The number of moles of solute present in 1Kg of a solvent is
called its
A- Molality

B-Normality = C- Formality D- Molarity

31- What products are expected from the disproportionate reaction
of hypochlorous acid?
A-HU and CL,O

C- HUO, and HUO,

B- HU, and CLO
D- HU and HUO,

31- ERAEERY UfEE ¥ araur Rusgye ¥ == e 2

A-HU and CI,0 B- HU, and CL,O

C- HUO, and HUO, D- HU and HUO,

32- Which one of the following types of drugs reduces fever ?
A- Tranquilliser B- Antibiotic

C- Analgesic D- Antipyretic

32-vH A red qER WA §

A-TTREeoR B-wRlaRfes  C- Ueifas D- Tiusifes

33- Green vitriol is

A- CuSo, B- CuSo,, 7H,0

C- CuSo,, 5H,0 D- FeSo,, 7H,0

B-gwfEat ...

A- CuSo, B- CuSo,, 7H,0

C- CuSo,, 5H,0 D- FeSo,, TH,0

34- The Co-ordinate bond is formed in

A-H,0 B-0, C-NH,CI  D- None of the above
34- 57 ¥ go-way fRad AT 7

A-H,0 B-0, C-NH,CI D- 3% 1§ 7

3)
35- Which of the following does not change when light passes from
one medium to another ?

A- Speed B- Wavelength C- Frequency D- Intensity

35- g | =T T e e Ao U A § g H o 2

A-7ife B-wm amm  C- oy D- digar
36- Velocity of sound is greatestin ............

A-Vacuum  B-Air C- Water D- Metal
36- waf =t 7 frad sy Bt &

A- frafa B-a1g C- it D- wire ward

37- When an electron is emitted from a nucleus, the effect on its
neutron proton ratio is
A- Remains same

C- Increased

B- Decreased
D- First (A) then (B)

37- 919 % TSR s ¥ Frmer & 9 SuE g #=
fararor = g 2

A- S & S @ B- &

C-agm D- wet (A) i (B)

38- The Planet which is called twin of earth is

A- Pluto B- Mars C- Mercury D- Venus
3B-qeAl HqEA T R E

A- 8 B- wier C-1& D-9%

39- A tuning fork vibrates with two beats in 0.4 seconds, the
frequency is

A-6 B-8 C-5 D- None of these

40- The measurement of volt meter in the following circuit as

A-60v B-40v B

C-34v D-24v

40- 58 e ¥ dree fiex § = fa@m “w
—t

A-6.0v B-40v

C-34v D-24v 2:

41- |sotopes have

A- Same number of neutrons  B- Same number of Positron

C- Same number of protons D- Same number of nuclear

41- FEE FT T T

A- =2 it G T B- WM %I Hem '

C- e %t wem s 78 D- yfefew dem wue




42- At 25°C the pH value of a solution is 6, the solution is
A-Neutral B- Acidic C- Alkaline D- Basic

42- 25°C T R fosdt fsor %5t pH = 6 #, =% firgor &
Bm?
A- =g B- smeiy

C- &g D- afe=

43- The speed of boat is 5 Km/hr in still water. It crosses a river

of width 1 Km along the shortest possible path in 15 minutes then
velocity of river is
A-4 Km/hr  B-1 Km/hr C- 2 Km/hr D- 3 Km/hr

43- et A ¥ rE %1 afd 5 Kmihe & 58 919 e o5 fara F
oy 1 fEdo St 7 1 15 e YR @ ¥, sw a8 ¥ ot &
AMFE ?

A-4Kmhr  B-1Km/hr C- 2 Km/hr D- 3 Km/hr

44- Work done by a simple Pendulum in one complete oscillation

is
L L - e -
B- T / 5 C Vslne2 D- /Mg

A- Zero

44- U HROT YgEH R U F F foRa s T S &2

1 [T D. [Tig

A- Zero #J G

c- Vsln%

45- Blue color of the sky is due to
A- Scattering of light B- Dispersion of light
C- Interference D- Sun emits more of blue light

45- A F A T T FROT T ?
A- vt T faEen B- Trert =1 fyarer
C- =qur D- g4 warer Hien v S E

46- The potential energy of a molecule on the surface of a liquid
compared to the area inside the liquid is

A- Zero B- Lesher B- Equal D- Greater

47-Energy conversion in a photoelectric cell takes place from
A- Chemical to electrical B- Magnetic to electrical
C- Optical to electrical D- Mechanical to electrical

A7yt fagd 45 ¥ 391t fopm w9 & o sreerit

A- T ¥ faga B- g ¥ faea
C- warrwr 391t ¥ faregar D- 4ifae 3f & faga

(4)
48- A hot and a cold body are kept in vacuum separated from
each other. Which of the following cause decrease in temperature

of the hot body ?
A- Radiation B- Convection
C- Conduction D- Temperature remains unchanged

48- uw i 3R o S verd war Wew s A @ wr ¥, v
=1 T feg ave ¥ S8 ?
A- fa=ror B- HEeT C-9&d  D- a9 ST W

49- Aluminum is present in

A-Gypsum  B-Asbestos  C- Camallite D- diaspore
49- Tl areafufsrs o S &
A- faag B- TawH C- #HeRe D- SEwER

50- If gas molecules undergo inelastic collision with the walls of
the container

A- Temperature of gas will increase

B- Temperature of gas will fall

C- Temperature of the gas will increase

D- Neither the temperature nor the pressure will change

50- 3R ot ared= § 0] =1 o F WY e ® T B
Ta?

A- g &1 a9EE =g

B- g &t argar AR S

C- g %1 zara wg WA

D- 7 A 7 ZET FEei




